S9 Equations. Equations for the multivariate growth curve model
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yRAit = IntRAi + SlpRAiAgeit + ✏RAit











image3.emf



var



2



664



IntPAi



IntRAi



SlpPAi



SlpRAi



3



775 =



2



6664



�2
IntPAi



�IntRAiIntPAi
�2
IntRAi



�SlpPAiIntPAi
�SlpPAiIntRAi



�2
SlpPAi



�SlpRAiIntPAi
�SlpRAiIntRAi



�SlpRAiSlpPAi
�2
SlpRAi



3



7775











image4.emf



var



2



666666666666664



✏PAi6



✏PAi7



✏PAi9



✏PAi10



✏PAi12



✏RAi6



✏RAi7



✏RAi9



✏RAi10



✏RAi12



3



777777777777775



=



2



666666666666664



�2
PA6



0 �2
PA7



0 0 �2
PA9



0 0 0 �2
PA10



0 0 0 0 �2
PA12



�PA6RA6 0 0 0 0 �2
RA6



0 �PA7RA7 0 0 0 0 �2
RA7



0 0 �PA9RA9 0 0 0 0 �2
RA9



0 0 0 �PA10RA10 0 0 0 0 �2
RA10



0 0 0 0 �PA12RA12 0 0 0 0 �2
RA12



3



777777777777775












s, St o b i gt v

ntpa, + Slppa, Agen + cpa,,
i, = Inta, + Slpr, Ageie + e,

o oot




